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3 i ET 45 45 Go| 18.0| 72.0
4| i@ =HF 45 50 95| 22.8| 72.2
5| & dhxE 42 40 821 9.6| 72.4
o I 45 47 92| 19.2| 72.8
1| 2& EF 42 43 85| 12.0| 73.0
8| B & 44 46 90| 16.8| 73.2
9| AE =& 41 49 90| 16.8| 73.2
10| ILA ¥ 49 53 1021 28.8 | 73.2
11| A& 5F 37 38 * 75| 1.2| 73.8
12 | A =87 46 41 87| 13.2| 73.8
13 | BEBE = 47 46 93| 19.2| 73.8
14| &R |ETF 52 52 104| 30.0| 74.0
15 | Wk HF 44 41 85| 10.8 | 74.2
16 | #i4 =it 42 43 85| 10.8| 74.2
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18| L@ e 45 45 90| 15.6| 74.4
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24 | O —&\ 48 45 93| 18.0| 75.0
25| =X EWHF 49 50 98| 24.0| 75.0
26 | ¥2 F=T 44 42 86( 10.8| 75.2
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31| WA ERTF 60 44 104| 28.8| 75.2
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6| FH £8% 51 50 101| 25.2| 75.8
37| fkiE 47 54 01| 26.2| 75.8
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9| & BT 46 48 94| 18.0| 76.0
40 | FiR NEF 49 45 94| 18.0| 76.0
41 | s 34 44 50 94| 1B.0| 7T6.0
42 | @ fEE 50 54 104 27.6| 76.4
B3| B2 2L2F 56 54 110 33.6| 76.4
44| FEH BF 51 46 97| 20.4| 76.6
46| HE T 50 46 96| 19.2 | 76.8
46 | IBE =BT 48 R4 102| 25.2| 76.8
47 | ZeElR 7% F 51 51 02| 25.2| 76.8
48 | R BF 56 46 102| 25.2| 76.8
49 | Bk ET 45 44 89| 12.0| 77.0
50 | A HEL 46 43 89| 12.0| 710
51 | B+ S={EF 48 47 95| 18.0| 77.0
62 | FEfL 02 43 39 Bz| 4.8| 71.2
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58 | BR SETF 51 52 103| 25.2| 77.8
58 | BN &T 55 54 109| 31.2| 77.8
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63 | B IEF 55 50 105| 26.4| 78.6
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66 | 3B T 55 48 103 24.0| 79.0
67 | L Mo 52 50 102| 22.8| 79.2
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63 | AE =iF 48 56 104 24.0| 80.0
10| 88X XF 50 53 103| 22.8| B80.2
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5| eH =BF 60 48 108| 26.4 | 81.6
16 | Wi 2B gt b4 113 31.2| 81.8
17| Hp BT 56 56 112| 30.0| 82.0
18| Wil Eoo 53 55|| 118 36.0| 82.0
791 Wk I8 52 53 105 22.8| 82.2
80 | @ MEF 59 56 115| 32.4| 82.6
31| fn@  #H{t 54 60 114 31.2| 82.8
82 | WH E=F 61 58 119| 36.0| 83.0
83 | BE BE 61 59 120| 36.0( 84.0
84 | dhH] BLF 62 59 121] 36.0| 85.0
85 | {H B/ET 57 56 13| 27.6| 85.4
86 | EE TEEF 63 59 122| 36.0| B86.0
87| O &HTF 59 63 122| 36.0| 86.0
88 | HE F 65 59 123| 36.0| 87.0
89 | tE3t EfE 68 58 126| 36.0 90.0

90 | Bt 2R 65 62 127 36.0| 91.0
91 | ¥ Fn-F 65 66 131| 36.0| 95,0
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